3 -.'b.

Find (i) | (A X B) X C] (ii) (A X B) X (Emtin) am B) C(W)“rn'xtax

S ety o S R
b) If A=2yz i-x"yj+xz’k, B=x"i+yzj-xyk & aif"?ﬁl o4 A ‘ . ', %
Find (i) (A. V)@ (ii) A.V @ (iii) (B. V).A (IV)IAX@ )ﬁ I:-f b | ) i iR lz
1
Q.1) B) Attempt any one. [7TM] = 3* gt pege s "'-,“f\

) Find V X A at point (1,-1, ). IfA =xz* 1-25{337‘2‘1“-7-‘25’2‘1(‘*“‘“*" St i -*-“*-‘Lh- &

;,_-? “ﬂ_, :
b) Show that the addition of vectors is assocnatlve 1.e. A+ (B+C) ( Ak B ‘j ”"“. Egher

{ _,,__.‘.*__. P o

0N ) Attamnt anv ane [SM) ' TR DR N T T
a) If A= 2i+7j+2k and B= 3i-j+-2k, find (i) A.B (ii) tA B| (iii) (2A+3B) G
b) Prove that V (F.G)=GVF+FVG \ §" i

1 {

Q2 A ) Attempt any one. [TM]

a) Solve the equation is exact and hence find its solution.
(x2+Iny) dx + §dy =0

B ok A SRR 1
D) Sovet uation —+ —y = —
) Solve the equatiol - i fles




. Ay B pﬁn&u:ﬁ) If we assume thy,
O o
omﬁ equation of motion is (dt)+ V=g

toffOOI_\Than ‘— from a stﬁﬁg tied to the two other strings attached to a fixed
as shown in figure below . The two strings make angles of 40° and 50° with the

t . T we e TR I e At 1 .1
R DU EEAI L AALIC LCTIS1ULIS (il wll Lo SUiiigo.
4




a) Fora homogeneous 1sotopic t;mmial

b) The velocity above and below the wi

s the area of the wings show that thew '
density of air. B

Q3) C) Attempt any one [5M]

a) Athin metal plate of 10 ¢m? in area rests on a lsyer of oil me ﬂﬂﬁk A“fﬁf“ef

applied to the plate horizontally keep it moving with a umfcrm W Qf I’W m‘
viscosity of the oil.

._i.

b) For a steel material, Y= -2x10"" N/m? and Bulk modulus is 13 3x10'" N/m? . calculate
Poisson’s ratio and modulus of rigidity of steel.

Q.4) Attempt any three. [15M]
a) (1) define scalar & vector.

(i1)Classify the following in scalar & vectors. . £

Charge, Kinetic Energy, Entropy, Frequency, Force Magnenc field.
b) Prove that (y -Z +3yz) L+ (3xz+2xy) J+ (3xz +2xz+22) E 1s solenoid.

¢) Show that the function F(x,y) , F(x, y)= )(4+l’n(2y+xy2 dF is a pertect ditferential?

2 .
d) Solve the equation % +wly =0 : w1 e _

¢) Determine the force per unit area required to compress a volume of water by one pcrczmk
_ (Bulk modulus of water is 5x10'’ dynes/cm?)

f) A thin metal plate of 20 cm? in area rests on a layer of oil 3mm thick A force of 0.0

applied to the plate horizontally keep it moving with a uniform speed of 20mls.F, I

viscosity of the oil. s
'I 1 N




